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ANSWERS FOR 2.7

For use with pages 117-120

2.7 Guided Practice 2.7 Practice and Applications
2. The point is included; the 14. —11 16. —4
point is not included. 18. —15 20. —10
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28. JEB ¥ 34. Sample answer: Each open

l circle on the graph would be
replaced by a closed circle
O and each closed circle by an
-2 2 X open circle, since a < sign
does not include the endpoint
and goes with and open circle,
while a < sign does include
the endpoint and goes with a
closed circle.

,if0 £ x<?2
36. f(x) = 13,if2 < x < 4
) 5,if4<x<6
-,
) 2 x 3x + 10, ifx<-—2
—2 (orx < —=2)

38. fx) { =4, if —2<x<2
32- (0r—2<x<2)

Y| | glo —3x + 10, if x> 2
(orx =2)

30. S

(1,if —1 < x
ool ! x 2,if -2 < x
o 40. f(x) =43,if =3 < x
AR 4,1f —4 < x
\5, if =5 <x
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Sample answer: The function
42.
maps each x-value to the Y .Ic

integer it rounds to. *%c
1
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44. 50. Next-Day Mail
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2. Making Photocopies
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54.
cr) = 20 + 17x, if0 <x <50
20 + 15.80x, if x > 50
0.062x, if 0<x< 72,600
56. flx) = {

4501.20, if x 272,600
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Social Security Tax Scuba Diving
1 ] @
- R S S - 40, 2
2 6000 (72.600, 4501.2) £ 200 (40, 200)
2 5000 " £
T 4000 S~ o 175 \
8 3000 // g 150 \
e
5 2000 s .g 125 \
L 1000 v T 100 \ { ] 5
00 10 20 30 40 50 60 70 80 90+ g 75 k‘53§' 66§
Income (thousands of dollars) E 50 \\
E 25 (130, 10)
Lif0 <1 <2 = L (90,30 ™~
. 0 20 60 100 140 d
58. d(t) =12t —2,if2 <t <8 Depth (ft)
r+6,1f8<r<9
8
64. — ;2
Snowfall During a Storm 7
d(r) gy
~ 14 (9, 15) 24 7 9
£, (8,14) 66. — 5~
X
@ g 20 28
5 68. — ;-
< 3 3
§. 4
0 1
01 23 456 7 8 9t
Time (hours) ¢
@ @
60. A .
@
600 — 10d, if40 < d < 533 R
62. 1(d)=1120—-d, if535<d <90 . -
75 —0.5d, i1f90 < d < 130 1 ®
l X

negative correlation

39



